



Simplify each. Make sure answers don't have exponents that are zero or negative.

$$2. \frac{-4l^{-3}d^2}{6k^{-1}m^0n^5} = \frac{-2l}{3c^3n^5}$$

3.
$$\left(\frac{5^{-2}x^{7}y^{-4}}{3}\right)^{-1}$$

$$= \left(\frac{\chi^{7}}{75W^{5}}\right)^{4}$$

$$= \frac{75W}{\chi^{7}}$$

Sec 8-3: Multiplication Properties of Exponents

Property

Multiplying Powers With the Same Base

For every nonzero number α and integers m and n, $\alpha^m \cdot \alpha^n = \alpha^{m+n}$.

When you multiply powers with the same base you

ADD EXPONENTS

5.
$$(-2m^4n^{-3}p)(4^2m^5n^2p^6)$$
 $\left(-2\right)(16)$

$$= -32 m^9 p^7$$

Evaluate each for A = -4 B = 6 C = 2Give fractional answers in reduced form (no decimals) 6. $A^{-2}BC^3$

$$\frac{BC^{3}}{A^{2}} = \frac{(6)(2)}{(-4)^{2}}$$

$$= \frac{48}{16} = 3$$

Evaluate each for A = -4 B = 6 C = 2

Give fractional answers in reduced form (no decimals)

7.
$$\left(\frac{AB^{-2}}{C^{-2}}\right)^{-1} = \left(\frac{AC^{2}}{B^{2}}\right)^{-1} = \frac{B}{AC^{2}}$$

$$= \frac{(6)^{2}}{(-4)(2)^{2}} = \frac{3k}{4}$$

$$= \frac{3k}{(-4)(2)^{2}} = \frac{3k}{4}$$

Simplify.

4.
$$(4a^{-9}bc^4)(2a^{-2}b^7c^{-2})(5a^8b^{-1}c^5)$$

$$\frac{40b^7c^7}{0^3}$$

Simplify.

5.
$$6(3^{-2}g^{10}h^{-4})(4g^{-3}h^2)$$

$$\frac{69^{10}}{9h^4}\frac{89}{3h^2}$$

Find product without a calculator. Give your answer in Scientific Notation.

Simplify each.

1.
$$Q^{4} \cdot Q^{-3} \cdot Q^{7} Q^{8}$$
2. $(Q^{6})^{3} Q^{18}$

2.
$$(Q^6)^3 \bigcirc^{18}$$

Section 8-4: More Multiplication Properties of Exponents

Raising a Power to a Power:

$$(x^a)^b = x^{a \cdot b}$$
 Multiply exponents

Property

Raising a Product to a Power

For every nonzero number a and b and integer n, $(ab)^n = a^n b^n$.

Every part inside the parentheses is raised to the exponent that's on the outside. Simplify each. Make sure answers don't have any exponents that are zero or negative.

1.
$$(h^4)^3$$
 h^{12}

2.
$$(P^{-6})^7$$
 $P^{-42} = \frac{1}{P^{42}}$

3.
$$(D^9)^{-4}$$
 $\sqrt{3}$

4.
$$B^{-3} \cdot B^{-3} = B^{-3}$$

Simplify

5.
$$(7m^3n^5)^2$$
 $49m^6n^{10}$

Simplify. Make sure your answer doesn't have any exponents that are negative or zero.

6. $(3a^4b^{-3})^2(2a^2b^5)^3$ $(9a^4b^{-1})(8a^5b^5) = 72a^{-14}b^9$

7.
$$(4m^3n^{-5})^{-2} = \frac{n^{10}}{16m^6}$$

8.
$$((8x^6y^4)^2(2xy^7))^0$$

9.
$$\left(\frac{2^{-2}a^{4}b^{-3}}{a^{-1}b^{5}}\right)^{-3} = \left(\frac{\alpha^{5}}{4b^{8}}\right)^{-3} = \left(\frac{4b^{8}}{a^{5}}\right)^{-3} = \left(\frac{4b^{8}}{a^{5}}\right)^{-3} = \left(\frac{4b^{8}}{a^{5}}\right)^{-3} = \left(\frac{4b^{8}}{a^{5}}\right)^{-3} = \frac{64b^{9}}{a^{15}}$$

10.
$$(6E^{5}D^{-2})^{-2}(2E^{-2}D^{4})^{3}_{3}$$

 $=\frac{1}{3}\frac{1}{6}\frac{1}{6}\frac{1}{6}$
 $=\frac{1}{3}\frac{1}{6}\frac{1}{6}\frac{1}{6}$
 $=\frac{1}{3}\frac{1}{6}\frac{1}{6}\frac{1}{6}$
 $=\frac{1}{3}\frac{1}{6}\frac{1}{6}\frac{1}{6}\frac{1}{6}$
 $=\frac{1}{3}\frac{1}{6}$

Simplify each.

11.
$$((((w^4x^3)^2)^5)^3)^2$$

W > 10 χ 180

12.
$$(((((a^8b^5)^3)^{0})^4)^5)^6$$

You can now finish Hwk #12

Sec 8-4

Pages 413-414

Problems 4-8, 13, 15, 17, 20-22, 51

IXL #7 - V.4 & W.1 due Friday at 4pm!